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61 348 Service Operations Management
Midterm Exam Answer Sheet
Short-type Essay Questions:

1. “Service is heterogeneous”. Could you explain this statement? How can you turn service into a more homogeneous structure? What are the advantage(s) of a homogeneous service? (3 Points)
Service operation establishments cannot guarantee delivering the same service to two different customers and / or same customer at different times in the same standardized manner. That’s why, service is heterogeneous. In order to make service more homogeneous, service managers should:

· Apply strict rules and processes while producing & delivering (Blueprint)
· Rely more and more on technology
This way, service delivered will be more standardized, with less error & failure points, hence, perceived to be of quality which would in turn create guest satisfaction. 

2. What is a “Service Blueprint”? What are the advantage(s) of having Service Blueprints? (2 Points)
Service Blueprint denotes service specifications and is a picture of a service system. To illustrate, after determining different service units, each of those very units shall be designed service system in which all activities, processes, and elements of that very unit shall be diagramed in a flow chart depicting areas where failure points are probable to occur.

Service establishments having blueprints for each of their service units enjoy the following benefits:

· Identify various activities and processes encompassing the service delivered
· Identify failure points hence design pro-active tools to isolate them
· Establish a time frame for each task and / or subtask needed to produce that very service
· Help determine the amount of resources needed to perform the job, hence, can be a basis to eventually prepare future operational budgets
3. What are the Core Product and the Core Service in a typical hotel? (2 Points)
In a typical hotel, the core product is room while the core service is accommodation.
4. What are the competitive advantages of Hillside Hotel compared to their main rivals (i.e. competitors)? (3 Points)
Competitive advantages of Hillside hotel compared to their main rivals (Plaza Hotel and Penguin Hotel) are as follows:

· Hotel is only 500 meters from the city center and main railway station

· Hotel has plenty of parking spaces

· At Hillside Hotel, the average check-in and check-out times along with other service delivery functions are far better than the national standards
· Hotel has a 1000-seat conference hall equipped with modern facilities
· Guests uses recreational facilities of the hotel freely
5. Define Causal Forecating Techniques? (2 Points)
Causal forecasting techniques is a series forecasting method using historical data. Eventhough it is similar to time series methods, demand is not tracked over time but over other variables thaught to cause demand to occur (ex. # tour operators hotel works with, total number of rooms allotted, image and / or risk of country / destination, # of competitors, total bed capacity...).
6. “Operational budgets shall, if possible, be prepared from bottom to top”. Do you agree on this statement? Why? Why not? (2 Point)
It is smart to prepare operational budgets from bottom to top. This way, participaction from nearly all employees would be ensured which would, in return, generate a better down-to-earth operational budget and increase motivation and hence productivity of employees. For, employees, at all levels, would feel, through involvement in budget preparation, they are important components of the company.
7. What are the components of “Service Delivery System”? (2 Points)
“Service Delivery System” includes strategic service units, recreation facilities and all the other service units available in the hotel.

8. What are the different variables that might shapen Guest Expectations? (2 Points)

Different variables that might shapen Guest Expectation are:

· Number of times guests have tried the product and / or service before
· Level of customer awareness
· Existing of alternatives
· Value of products / or services perceived by customer versus the spelled out price…
· Beliefs
· Perceptions
· Backgrounds
· Demographics (age, level of income…)
· Culture
Problem Solving:

1. The following table shows the number of Guest Nights, Average Bed Price, and Total Room Revenue of Hillside Hotel for the last ten years. Use these data to answer the underneath questions. 

	Year
	Guest Nights
	Average Bed Price
	Revenue
	Triple Moving Average

	
	(1)
	(2)
	(1) * (2)
	

	
	
	
	
	

	1
	5,810
	70.25
	408,152.50
	--------

	2
	6,020
	71.36
	429,587.20
	--------

	3
	6,125
	72.33
	443,021.25
	5,985.00

	4
	6,098
	74.50
	454,301.00
	6,081.00

	5
	6,112
	74.09
	452,838.08
	6,111.67

	6
	6,523
	75.11
	489,942.53
	6,244.33

	7
	6,750
	75.95
	512,662.50
	6,461.67

	8
	6,940
	76.42
	530,354.80
	6,737.67

	9
	7,130
	76.53
	545,658.90
	6,940.00

	10
	7,245
	76.80
	556,416.00
	7,105.00


a) Forecast demand (in Guest Nights) for the 11th year using the Triple Moving Average Growth Method. (Show all necessary calculations) (2 Points)
· 11th year Forecasted Demand = 7,439 Guest Nights.

b) Now use the regression equation: Y = 164.406 * X + 5,571.0667 to forecast the guest nights for the 11th year (1 Point)

· 11th Year Forecasted Demand = 164.406 * 11 + 5,571.0667 = 7,380 Guest Nights.

c) Use the regression equation Y = 0.73309 * X + 70.302 to estimate the Average Bed Price (ADR) for the 11th year. (1 Point)

· 11th Year Average Bed Price = 0.73309 * 11 + 70.302 = $ 78.37.
d) Now calculate the Total Room Revenue (do not forecast) for the 11th year using the above results found from parts b) & c). (1 Point)
· 11th Year Total Room Revenue = 7,380 * 78.37 = $ 578,305.

2. ABC company is a major Food supplier of Hillside Hotel. Recently, they started receiving complaints from Hillside stating that they are no more receiving poultry in the appropriate weight already agreed upon (according to a current agreement, all poultry shall have a weight of at least 2 Kg). In this regard, ABC company decided to elaborate on this issue. Randomly, they took a daily sample of 25 chickens for 10 successive days and tried to come up with those sample’s average weight and average range weight (all in Kg) as depicted in the underneath table:
	Sampling Day
	Average Chicken Weight
	Range (Highest - Lowest)
	# of observations

	
	(Kg.)
	(Kg.)
	

	
	
	
	

	1
	1.96
	0.25
	25

	2
	2.34
	0.14
	25

	3
	2.05
	0.06
	25

	4
	1.94
	0.18
	25

	5
	1.99
	0.30
	25

	6
	2.12
	0.22
	25

	7
	2.15
	0.19
	25

	8
	2.23
	0.06
	25

	9
	1.89
	0.08
	25

	10
	2.02
	0.15
	25


a) Calculate the Average Sample Mean (ASM). (1 Point)

· Average Sample Mean = 2.069 Kg.

b) Calculate the Average Range. (1 Point)
· Average Range = 0.163 Kg.

c) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the R-Chart. (1 Point)

· R-Chart Upper Control Limit = 0.163 * 1.541 = 0.251183 Kg.
· R-Chart Lower Control Limit = 0.163 * 0.459 = 0.074817 Kg.
d) Calculate the Upper Control Limit (UCL) & Lower Control Limit (LCL) of the X-Chart. (1 Point)

· X-Chart Upper Control Limit = 2.069 + (0.153 * 0.163) = 2.093939 Kg.

· X-Chart Lower Control Limit = 2.069 -  (0.153 * 0.163) = 2.044061 Kg.

e) Draw the R-Chart. (2 Points)
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f) Draw the X-Chart. (2 Points)
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g) What would you comment (i.e. Infer) from the findings of the R & X Charts? (2 Points)

ABC company was right that chicken send to Hillside Hotel isn’t in conformity with already agreed contract (weigh wise). In fact, the X-chart shows that the ASM of chicken weight has deviated above the upper control limit (UCL) as well as under the lower control limit (LCL). Moreover, as far as the R-chart is concerned, it shows that the process wasn’t either in control. (i.e. The average range or difference in chicken weight for each sampling day has deviated above the UCL as well as under the LCL.
From the above charts, the follwing might be concluded:
· The average chicken size is not only far above the expectation (X-chart) but also chicken send on the same sampling day varies significantly in weight.
· Therefore, ABC Company shall concentrate on generating assignable and non-assignable possible reasons for the problem. If it turns out that assignable reasons have caused this quality problem, those very reasons shall be eliminated. On the other hand, if reasons are of non-assignable nature, a new contract shall be negotiated on the bases of what ABC company can possibly provide as far as chicken weight is concerned.
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